magnitude (counts)

ITMY Switch-All from Tstart to TCrappy

Tripped the L4Cs. They were in high gain mode

— L4Cs have to be in Low gain mode while switching
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[Signal time series on Mar 28 2014 10:06:39.8 PDT (GPS = 1080061615.795166)]
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ITMY Switch-All from Tstart to Tcrappy

L4Cs are now in low gain mode

Tripped theT240s - We did not wait long enough?

magnitude (counts)

[Signal time series on Mar 28 2014 09:52:25.33 PDT (GPS = 1080060761.329102)J
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ITMY Switch-All from Tstart to Tcrappy

Waiting longer for the T240 to settle (under 15 um/s)

Tripped theT240s again — We just can't switch all

magnitude (counts)

[Signal time series on Mar 28 2014 10:27:35.56 PDT (GPS = 1080062871.559814)]
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ITMY Tstart to Tcrappy

Waiting longer for the T240 to settle (under 5 um/s)

Swithed onlt Z, RX, RY - Still Tripping

magnitude (counts)

[Signal time series on Mar 28 2014 10:48:06.73 PDT (GPS = 1080064102.733887)]
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ITMY Switch-All from Tcrappy to Tstart

Tripped theT240s

magnitude (counts)

[Signal time series on Mar 28 2014 09:24:37.17 PDT (GPS = 1080059093.1657?1”
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ITMY Switch from Tcrappy to Tstart,

Tripped the T240s again

Only X

magnitude (counts)

{Signal time series on Mar 28 2014 10:34:11.75 PDT (GPS = 108006326?.?49756”
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ETMX in Tcrappy Isolated Mode

Try to switch T240s from High gain to low gain

Sensor 1 and 2 switched well.

Sensor 3 Tripped.

magnitude (counts)

[Signal time series on Mar 28 2014 10:18:41.42 PDT (GPS = 1080062337.421143)J

[H1:ISI-ETMX_ST1_MASTER_H1_DRIVE_DQ]

0

—80000

—-160000

—240000

| 1 1 1 I
-0.025 0.0 +0.025 +0.05 +0.075

(HL:IS-ETMX_ST1_MASTER V1

_DRIVE_DQ

0

—80000

—160000

—240000

i
-0.025 0.

i i i
0 +0.025 +0.05 +0.075

(H1:ISI-ETMX_ST1_MASTER_H2_DRIVE_DQ|

(HL:ISI-ETMX_ST1_MASTER_H3_DRIVE_DQ)

Watchdog state key

T T T T T T T TIITA T T T
v
-80000 | \( 1 —80000|
0,025 00 +0.025 +0.05 +0.075 0075 00 +0025 +0.05 +0.075
(H1:ISI-ETMX_ST1_MASTER_V2_DRIVE_DQ] (H1:1SI-ETMX_ST1_MASTER_V3_DRIVE_DQ]
O 0
~80000 |- 4 -8000O0|

i i i i i
—-0.025 0.0 +0.025 +0.05 +0.075

seconds after 1080062337.421143 (s)

i
—-0.025 0.

1 1 I
0 +0.025 +0.05 +0.075




	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26

